:

w @
< m
[ Rien
— =
= wm
m m

C6011201

SMART-BOX WIDTH 110

Four-part plastic enclosure, ideal for design orientated electrical and electronic applications. The sealing is already
prefitted in the top. Screw fixing outside of the sealing area. Resessed operating area to protect the membrane
keyboard. Fastening pillars for PCBs and DIN-rails.

Supply
1 base and top part with sealing, 2 trims, 1 assembly kit incl. cover retention

TECHNICAL DATA

Material ASA+PC (UL 94 V-0) Length 200 mm
Protection class IP 66 Width 110 mm
Colour light grey RAL 7035 Height 60 mm
Standards RoHS compliant, PCB length, base 161 mm
. _REACH compliant PCB width, base 101 mm
Ihe degrest)of protectin lted rofer fo he ey londard e lngin top 156
the EN 60529 standard. PCB width, top 99 mm
Keypad length 155.1 mm
Keypad width 101.9 mm

Please take the dimensions from current parts. These are subject to
material- and manufacturing-specific tolerances.

PURCHASING DATA

Weight/1 part 312¢g
Customs tariff number 39269097
(OKW product)

Country of manufacture Germany

30 April 2025 Page 1/4



:

(T Nap)
< m
(0 Nien
— T=:

=< o
m m

C6011201

SMART-BOX WIDTH 110

CUSTOMISING OPTIONS

What else do you need to create your own personal product? We can supply our enclosures and tuning knobs fully
modified to suit your electronic components and design requirements. Please advise for anything else we can do

for you.

Customising options for C6011201

\|/

——

Machining Printing Laser marking Decor foils EMC shielding

Installation / Assembly
of accessories

30 April 2025 Page 2/4



:

w @
< m
[ Rien
— =
=
m m

C6011201

SMART-BOX WIDTH 110

ACCESSORY "PROTECTION"

C2306917 C2310917 C2316147 C2320137
Pressure equalisation element Pressure equalisation element Cable grommet Cable grommet
M6x0.75 M10x1 TPE EPDM

PA 6 (UL 94 HB) PA 6 (UL 94 HB) light grey RAL 7035 light grey RAL 7035
light grey RAL 7035 light grey RAL 7035 IP 67 IP 67

IP 56 IP 56

C2320147 C6100006 C6100016
Cable grommet Security plug Set of security
TPE PA6 PA 6

light grey RAL 7035 red red

IP 67

ACCESSORY "SCREWS"

A0306031 A0308031 A0308132

Self-tapping screws 3 x 6 mm Self-tapping screws 3 x 8 mm Self-tapping screw 3 x 8 mm
(Pz1) (PZz1) (T10)

Stainless steel

30 April 2025 Page 3/ 4


https://www.okw.com/en/Pressure-compensation-elements/C2306917.htm
https://www.okw.com/en/Screws/A0308132.htm
https://www.okw.com/en/Screws/A0308031.htm
https://www.okw.com/en/Screws/A0306031.htm
https://www.okw.com/en/Smart-Box/C6100016.htm
https://www.okw.com/en/Smart-Box/C6100006.htm
https://www.okw.com/en/Cable-glands-strain-relief/C2320147.htm
https://www.okw.com/en/Cable-glands-strain-relief/C2320137.htm
https://www.okw.com/en/Cable-glands-strain-relief/C2316147.htm
https://www.okw.com/en/Pressure-compensation-elements/C2310917.htm

:

w @
< m
[ Rien
— T=:
=
m rm

C6011201

SMART-BOX WIDTH 110

ACCESSORY

C2299018
Case feet
TPE (UL 94 HB)

Subject to technical modification without notice. © by OKW Gehausesysteme, Buchen/Germany.

30 April 2025 Page 4 /4


https://www.okw.com/en/Robust-Box/C2299018.htm

Oberteil Innenansicht
Top part inside view

- 186,00 - Platine Oberteil
174,00 PCB top part
~ 150,00 _ - 158,00 _ °
- 150,00 _
JA G
| ! e @ | I P Sl
\\> .
I | |
N i I |
! ) !
r] oo o oo
- - - - - - - Q - - o o _ _ _ _ _ _ _ _ _ _ o _ _ _ _ _ _ _ _ o o
U o ~| o ol ol o
AN | M~ » (o)1 )]
. Ny .
_ 46,50 _ '
| | 5
1 %
}/ |
Y A AN |
| || , NV NV,
Schnitt A-A
- 159,53 - Schnitt B-B
- 155,44 _ - 102,14 _
- 110,00 _ - 200,00 _ - 115,81 _ %. 8 - 92,00 _ 3
N —
1581 V S
| 1 ’ 1 1
\ / OA | 7 ! | I 1
S : | [j] \ ‘ ' :
. S ' ! ' ' ' [
AN
, \{ ’@ @ I
| ! § | ! 8. E. 4
o © cog %
o
o
<
| [ | _ , ' — | 1 0
' il ] _J1 | | |
1 r — ~ ] ¢ — . [
I o
8 - 153,70 _ - 38,69 _ g-
™ - 163,09 _ - 89,00 _
- 170,00 _ - 101,63 _
- 191,63 _
B Unterteil Innenansicht E'S‘g”t? Jntertell
I I ase part
i Base part inside view — P 161,00 —
l 153,70

%. X | /$ ~ : 7250 N S o [ 3

) 03
I - S

97,00
73,00
54,00
>
—
:@9:
|
|
|
|
|
|
|
>
89,00
101,00

o
! o
o)
(co)
|
5,20
| 7
Blende 110 ) | @ .
Trims 110 1 - ®r5€>
L , . |
@) @)- ' |
Q _ | 1
! Y@ O] N
N ' o/ !
T T NS =
Oberteil I ,
Top part , ! 174,00
PP Folientastatur —— - -
Membrane keyboard B 155.10 - 179,00 -
— : —
B 186,00 ;
1
Dichtung
Sealing '
|
Unterteil
Base part o3
- - - - ) - - - - F"
o
h
|
1
Bitte die MalRe an aktuellen Informationskopie Erst.am:  18.11.2020 Toleranzen: Status: ‘
. ) . et Erst. von:  J. Farrenkopf |DIN 16901 T130 ENTWICKLUNG JEJF
~ Teilen abnehmen. wird nicht aktualisiert Froig. am: Volumen: Zeichnungeart
| Diese unterliegen material- Copy for Information Freig. von: KUNDE DIN 6 Teil 2
Und prOdUkthﬂSSpGZlflSChGn will not be updated Revision: 01 This document contains proprietary information of OKW Geh&usesysteme GmbH
V Fertigungstoleranzen.  rme surpn tssten i ircncin A e P b e
S imensions | e s | (00 V V] [SMART-BOX 110
\9 Please take the dlmenS|0nS Subject to technical modification without prior notice. Typogra- )
Q. from current parts. phical and other errors do not justify any claim for damages. All w SMART-BOX 1 10X 200X 60
These are su bjeCt to material_ dimensions should be verified using an actual moulded part. G E H A U S E
and Manufacturing-SPECIfIC | Simpeorne wmie sucone domanis dindenmosion Nows. SYSTEME C6011201 M 11
to|erances ) prions les clients de verifer les dimensions des composants aved Fiir dieses Dokument behalten wir uns alle Urheberrechte vor. Es darf auch auszugs- | Dateiname:
les boitiers avant le montage. weise weder vervielféltigt noch Dritten in irgendeiner Form zugénglich gemacht werden. | 00008158

A B C D E F G H I



	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht3
	Zeichenansicht4
	Zeichenansicht5
	Zeichenansicht6
	Zeichenansicht7
	Zeichenansicht8
	Zeichenansicht9
	Schnittansicht A-A
	Schnittansicht B-B
	Zeichenansicht12


